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Hard Geometry Problem From Switzerland
Posted September 9, 2019 By Presh Talwalkar.

This problem is adapted from a math contest in Switzerland—no calculators allowed.

BC=? A

D
AB=2(4AC) AD =100

In triangle ABC above, angle A is bisected into two 60° angles. If AD = 100, and AB = 2(AC),
what is the length of BC?
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This problem is adapted from a math contest in Switzerland—no calculators allowed.

BC=?

AB =2(AC) AD =100

In triangle ABC above, angle A is bisected into two 60° angles. If AD = 100, and AB = 2(AC),
what s the length of BC?
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